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Notes:
. The grammarians have had disagreements over the effecter in ‘s3i’. Some

say it is the estimated  s=3” and some say it is the ‘sl 30,

. When the ‘352" has ‘Ji”, ‘&il” comes between it and the “slaill 31a” if it is
masculine and “&&i” comes if it is feminine except when it is ‘4’ or a
sentence that has become a noun.

Example: “aSala sl oSG ) | saie ) Gl Ll L

Example: “Aiiehdll (il i

Example: <& | 58 ) siale cpll Ll L

The ‘(s34 would be ‘() or “a3),
The ‘s’ with ‘JI” would be ‘cly <ake’ for the ‘G’ or ‘4 if its non-

derivative or an adjective if its derivative.

. Sometimes the “¢)xll 313 gets omitted and that is when the ‘(s3is’ is a proper
noun or added or ‘3P’.

Example: “13 oo (a el b g

And sometimes the ‘(s3l’ is omitted.

Example: “Lodac 1358 558l agan Ei€ BT e, n 8 )

. Sometimes a letter or two get omitted from the end of the ‘s3is’ and it is
called ‘a3 yall (52l then.

Example:



le. <Aalalal

Rules of the ‘&L’ or the ¢(s3s’:
Refer to page 196



